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Answer ALL questrons
5 ALL quesnons carry EQUAL marks

w3

The 1mportant Cost 1n Weber s mdustrlal locatlon Model is
(1) Labour Cost L (u) Transportatron Cost
(111) Land Cost (1v) l\xone of these\ e
ey /\* - ) ,(

- (11) Sltuatron factors

.-.,,(1) S1te factors ;T f o
;(1v) Demographlc factors

t'\ L (111) Economlc“factors -

: Productlvrty 1s the
(r) Measurement

'(11) Labour mput

- (1) Matenal mput )
X (1v) All the above

(111) Capltal( and Labour mput

-Whlch cost mcreases contlnuously.wnhth'u mcrease 1n productron‘?
o Co@Me

Whrch theory of proﬁt holds that a ﬁrm proﬁt can dlffer from zero only in short run?
) Risk bearmg theory 1L Frlctlonal ‘theory PR
o (m) Monopoly theory o (1v) Innovatron theory
Ceg The combmatlon of ﬁrms 1n successwe stages of the same 1ndustry may be referred as R
AP (1) Vertical Integratlon e f(n) Horrzontal Integratlon ' IR
e (111 ‘Forward Integratlon S

) »1’.1(1) Capltal inten :

, (11) Productlon 1nten31ve techmque : , ST,
(111) Labot1r 1ntens1ve teehmque N

(1v) None of these
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, Wthh one rs not an element of PrOJect Apprarsal‘? R
)] Network analysis . . ’(11) Techmcal fea51b111ty -
: '_(111) Economlcal vrabllrty e (1v) Commercral Vlabrllty
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E.xpand NPV i SPRE R
B (1) Natronal Present Value :;’ . (11) New Present Value :
it (1v) None of these i







